reactievergelijkingen SCHEIKUNDE

1. J.cH, + %0, — .1.CO,
2. 2Z.NH; — 3.H,
3. AH,O + AF, — .4HF
4. L4.NO + .bLH,0 — .4NH;
5y H:0u80 + AGH, = 40w
6. .J.C3HgO + .2.0, — .32.CO
7. A.Fe,05 + 3.H, — 4. Fe
8. .2.H,0, — A.H,0
9. .4.PBr; + BL.H,0 — .1.P,0s
10. 408, + 208 =— L1.00.
11. 4.KMnO, — .%K,0
12. %.Pb30y + .4.CoHg¢— 2Z..Pb
13. .4.N,05 + .LH,0 — .Z.HNO,
14. .Z.Na + .LH,0 — .2.NaOH
15. A..CgH120¢ — L.CoHO
16. 4..A1,05 + 2.co — Aal
17. 4.NaNo; + .4H,0 — .A.N,Os
18. 2N, + .kH,0 — A4.NH;
19, 24200 + 1. — 2.7n

20. ALF@Sz o %02 =g ..21.F€203
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